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DEPARTMENTAL EXAMINATIONS

GENERAL EDUCATIONAL TEST OF THE S.S.L.C. STANDARD -
PAPER -1II - GENERAL KNOWLEDGE

(Without Books)

Maximum Time : 2.30 hours. Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
ellfMleurer ellenLwall&@h euens edllanmssmer

Read the following instructions carefully before beginning to answer the questions.
eflenméaensE el _wellds QsTL kG (P SLPEEEMTL ifleyenIEEaT SEUEILONS Lilg S&ab.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. )
eflenLsemer GHlUEL [HeTer eraimanildansd @ Sswns eripdludmLiern, eflen_ssrafler GmHufed 2 drar
21815 eramanilsamaudonear efen_sar HUTEH QalwtiuLng,.

2. In case of doubt, English version is the final.
" eflanngsefley sbGsaLlHLUkN phidle aug el srhssiiul (Hearer efermasGer @mwirans.

SECTION A

LGS =i
Note : (1) Answer any SIX questions.
Grmeu(?u_r@n_b <M eflenraaEns@ ellenLwefl&sa)Lb.
(11) All questions carry equal marks.

ereber el (EHLDd FLo wHUQuETSET 2_enL_wier.

(iii))  Each answer should not exceed 100 words.
geueun(m ellammeliinEd 100 auréensa@nse Warne eflenL_wealsseab.

(6 x 4 = 24)
i Answer any SIX of the following :
Yemeumeuareum e erencuGuigyb phlanse@ ellenweflGaseaib.
1. Find the range and coefficient of range of the data 59, 46, 30, 23, 27, 40, 52, 35,29.

59, 46, 30, 23, 27, 40, 52, 35,29 erérn wHULsEnéE 65és HMID aiFas Qa1 srems.
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What is radioactivity?
SHMNWEHD GTaTmmed eremen?

The hydrogen ion concentration of a solution is 0.001M. What is the pH of the solution?

@ sorsdld manlrna Swelllbar Qadle; 0.001M. aefid, Sissorsllar pH wiliomus
seT (D91 S&e L.

Which Country is called the Country of Winds? Why?

“erpmisafier pr{” eram SanpasLILIEGL B[R 6TE? 6ren?

Give an account on Vanchinathan's role in the struggle for freedom.

g&BETL CumrrL sl eumendprgeien Likig wmg? ‘

Differentiate Gross Domestic Product [GDP] and Net Domestic Product [NDP].

Qrgs 2 atrT( 2 pusd, Qurss Bri{ 2 Husd Ceumu (586

What are the main objectives of the national forest policy?

Cadlw euansbarearenguien (padl Crrésmser wrene.?

(a) Differentiate the phenotype and genotype. (2)
(b) Differentiate Somatic variations and germinal variations. (2)
(=) SCGenment s wpmid BCarmmenL 11 Ceumui(HEgs.

() =L nbsd Caupun@ser whmb @endtend Caumur@sdr - GeunuBSss.

SECTION B
R

Note : (1) Answer any SIX questions.
ereneuCUIgID 24m eSlaTT&aEHs @ ellenLwefldsa|b.

(11) All questions carry equal marks.
eTeeVI eSl@TESH(EHLD FLo GGl LIGRTSET 2 anL_LiaT.
: (6 x 6 =36)
Answer any SIX of the following :
Qevmeumeuameupmled eraneuGuignd < MansE el welldsab.
A solid right circular cyli_nder has radius 7 em and height 20 cm. Find its
(a) Curved surface area

(b) Total surface area (Takezr = %2—)

e Sewro Crreul L o (panetuden (solid right circular cylinder) «g,gib 7 Qg.5 wHmb 2wy 20 Qg.18
GTeuTl 6 F6m
() aumeruriy

(<) Qurssliypliugiiy g fuepans srears. (7 = % CTEHS).
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Draw the ray diagram for the concave mirror when the position of the object is at infinity
beyond C and at C.

GPlwumguia Qummefar Hlenew mhldwers Qsreaaeie, CéE <lumd, Culld o erer Curg s
GUERITUIL LD QUEnT&. ‘

Explain the three allotrop forms of carbon.

smrueafler ppemm eils LnGeupmientd eulgeumIEeeT 65l eTa .

What are the basic rules for Sanitation in Public Places?

Qurg @Lmsafled WeruppLLHL HlLDe&aTer gL elSlipennaar wraney?

Vallabhbai Patel is called as the Iron man of India — Why?
eueveums Ul GLed @pdwiredlen @by weallsT eremm eer CurHolLBEDTT?

What are the types of agriculture practiced in our Country? Explain in detail.

@pslu Geuermar Agmpledler euanaser wreneu? euhenm efleurl.

Write the advantages of Single Party System.

@hans s_uller parenlnseneT 6T(HS)S.
SECTION C

uEd @
Note : (i)  Answer any FOUR questions.
eraneuGuign b B eSlamTésensa e e wafl&aseayib.
(1) All questions carry equal marks.
TG NG E & (@HLD &LD wﬁtﬁ@ueﬁm&seﬁ o _GnL_LIE,

(i1i))  Each answer should not exceed 250 words.
eauGeummm eflermalh@Ld 250 eunidengsEnéE WaTned eflenweafldse,b.
(4 x 10 = 40)

Answer any FOUR of the following :
Aeseumeueeu e ereneuCuignid Brendlanse eflenwafléseaib.

A die is thrown twice. Find the probability of getting a total of 9.
@@ &rmen LseL @rar® wen 2 Bl uGEng. s aamsaflen sgmHsd 9 HaLsalt QuneusheTer
B8] STanTs.
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2; State and prove conservation of momentum.

2 55 jflefenanio el gl Flimbss.

3 Write a brief notes on about Rain harvesting:

weniphr Geafiuy undl flfleurer sL_Hery eT(pgIs.

4. What are the achievements of the UNO?
oBpT Sameluller eTsameanseT GHISS T(HEIS.

5. What is Green Revolution? Explain its impact.

L& LrL_8 erenmmed rean? g adleneresenet alleurl.
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